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Test Booklet No. Test Booklet Code 

PN/LABIHE/6/21 

MEDIUM : PUNJABI + ENGLISH 

q²¾cYyf 
INSTRUCTIONS  

1. qBg \of²-\§Wc \tgqWHp Yy Mpc _pJ h² & _pJ ‘‘By’’ JqVW qe§M 50 \of² h², qO²¾ªp££ 
qe§M hcyH dBr 3 A¥H q²¾cZpqcW h² & _pJ ‘‘^r’’ gZpc² qJAp², _pJ ‘‘gr’’ _pfp 
AWy _pJ ‘‘Tr’’ ^t§Zr qe§M 25 \of² h², qO²¾ªp££ qe§M}¤ hcyH dBr 2 A¥H q²¾cZpqcW h² & 
Ht§d q`dp Hy, \of²-\§Wc qe§M Ht§d 300 A¥Hp£ dBr, 125 \of² h² & gpcy \of²¾p£ Yy 
E¨Wc qYG & 

 This Question Paper Booklet contains four Sections. Section ‘‘A’’ Mathematics 

contains 50 questions of 3 marks each. Section ‘‘B’’ General Knowledge, Section ‘‘C’’ 

Language and Section ‘‘D’’ Intelligence contain 25 questions of 2 marks per question. 

In all, the paper consists of 125 questions for a total of 300 marks. Answer all 

questions.   

2. _pJ ‘‘gr’’ qe§M qefyf _pfp h± AWy Eg MtVr h}Br _pfp qe§M hr H}qff _pe E¨Wc 
qY§Wp OpVp h± & (E`rYepcp£ dBr hySp£ qY§WrAp£ 13 _pfpep£ qe§M}¤ qHgr er qB§H _pfp ²¥¾v 
MtV²¾p kcvcr h± : A¥Jcykr, Wpq`d, `qdApd`, W±dJv, H¥²¾m, `cpS¾r, JtOcpWr, qh¥Yr, 
EcYv, EmrAp, Agp`r, \¥Op^r AWy ^¥Jpdr &) 

 Section ‘‘C’’ is language specific and is to be attempted in the chosen language. 

(Candidates were required to choose any of the following 13 languages : English, 

Tamil, Malayalam, Telugu, Kannada, Marathi, Gujarati, Hindi, Urdu, Odiya, 

Assamese, Punjabi and Bengali.) 

3. \orqIAp Yp g`p£ 2 K¥Ry AWy 30 q`¥R (150 q`¥R) Yp h± &  
 The test is of 2 hours and 30 minutes (150 minutes) duration.  

4. qO²¾ªp£ E`rYepcp£ ²y qefyf _pfpep£ qe§M}¤, qHgy qB§H _pfp ²¥¾v MtqVAp h±, E²¾ªp£ dBr  
\of²-\§Wc \tgqWHp, \oeyf-\§Wc qe§M E²¾ªp£ YtApcp q²¾cqYfR AWy MtVr h}Br _pfp AWy 
A¥Jcykr qe§M \oYcqfW HrWr JBr h}eyJr & \orqiAp qe§M, qHgr \of² Yy A²¾®epY/q²c`pV 
qe§M qHgr er Ag\fRWp Yy `p`dy qe§M, Eg Yy A¥Jcykr g¥gHc² (_pfp _pJ Yy \of²¾p£ 
²¥¾v N§T Hy) ²¥¾v A¥qW` `¥q²¾Ap OpByJp &  

 The Question Paper Booklet for those who have opted for any of the specified 

languages would be in the language opted and indicated on the Admit Card and in 

English. In case of any ambiguity in translation/construction of a question in the 

exam, its English version (except for the Language section questions) shall be treated 

as final. 
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5. \of²-\§Wc \tgqWHp 32 gqlAp£ Yr h± & qHc\p HcHy Op£M Hc} AWy qBh \§Hp Hc} qH  
\of²-\§Wc \tgqWHp \vcr h}ey AWy qBg qe§M gpcy gly h² & 

 The Question Paper Booklet is of 32 pages. Please check and ensure that the Question 

Paper Booklet is complete and contains all the pages. 

6. gpcy \of²¾p£ Yy E¨Wc Hyed G.A±`.Apc. E¨Wc-frR qe§M hr qYG & 

 Answer all questions in the OMR Answer Sheet only.  

7. G.A±`.Apc. E¨Wc-frR, \of²-\§Wc \tgqWHp Yy A¥Yc hr h± & OY}¤ Wthp²¥¾v \of²-\§Wc 
\tgqWHp I}dªV Yp q²cYyf qY§Wp Op£Yp h±, Wp£ G.A±`.Apc. E¨Wc-frR H§U dG AWy 

qeecV ²¥¾v qZAp²¾\vceH, Hyed ²¾rdy/Hpdy ^pd \tApqB¥R \±² ²¾pd hr _c} & 

 The OMR Answer Sheet is inside this Question Paper Booklet. When you are directed 

to open the Question Paper Booklet, take out the OMR Answer Sheet and fill the 

particulars carefully with blue/black ball point pen only. 

8. hcyH \of² dBr A\Vy E¨Wc Yy cv\ qe§M Hyed qB§H J}dy ²¥¾v hr Jvmªp Hc} & OyHc Wtgr¤ 
Eg \of²¾ Yy dBr qB§H W}¤ e§Z J}dy ²¥¾v Jvmªp HcYy h}, Wp£ WthpTy E¨Wc ²¥¾v JdW `¥q²¾Ap 
OpByJp & 

 Darken only one circle as your answer for each question. If you darken more than one 

circle for the same question, your answer will be treated as wrong. 

9. JdW E¨Wc dBr ²±¾JyqRe `pcqH¥J ²¾hs h± & 

 There is no negative marking for a wrong answer. 

10. G.A±`.Apc. E¨Wc-frR 'Wy ^yd}my q²¾fp²¾ ²¾p ^VpG Op£ l}dT ²¾p Hc} Op£ Eg Yp 
ApHpc icp^ Hc² Yr H}qff ²¾p Hc} & OyHc Wtgr¤ AqOhp HcYy h} Wp£ WthpTy 

G.A±`.Apc. E¨Wc-frR Yp `tdp£HV ²¾hs HrWp OpByJp & 

 Do not make unnecessary marks on the OMR Answer Sheet or fold or attempt to 

deface it. If you do so, your OMR Answer Sheet will not be evaluated. 

11. qBg \¥²y 'Wy qeecV AWy E¨Wc qdIV dBr Hyed ²¾rdy/Hpdy ^pd \tApqB¥R \±² Yr ecW}¤ 
Hc} & \|qgd Yr ecW}¤ ²¾p Hc} & 

 Use Blue/Black Ball Point Pen only for writing particulars on this page and for writing 

answers. Do not use pencil. 
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12. H§My H¥` ²¥¾v (cl ecH) \of²-\§Wc \tgqWHp qe§M, qgcl qBg EYyf W}¤ E\d^Z HcpBr 
JBr OJªp 'Wy hr HrWp OpVp MphrYp h± ²¾p qH G.A±`.Apc. E¨Wc-frR 'Wy & 

 Rough work is to be done on the space provided for this purpose in the Question Paper 

Booklet only and not on the OMR Answer Sheet. 

13. \orqIAp \vcr h}V 'Wy, H`cp/hpd N§TV W}¤ \qhdp£ q²criH ²¥¾v G.A±`.Apc. E¨Wc-frR 
g\tcY Hc} & 

 On completion of the test, hand over the OMR Answer Sheet to the Invigilator before 

leaving the Room/Hall. 

14. Wthp²¥¾v qBg \of²-\§Wc \tgqWHp ²¥¾v Ap\Vy ²pd d± OpV Yr qBOpkW h± & 

 You are allowed to take away this Question Paper Booklet with you. 

15. qBg \tgqWHp dBr qY§Wp qJAp H}T A h± & Wthp²¥¾v \§Hp Hc²p h}eyJp qH G.A±`.Apc. 
E¨Wc-\§Wc 'Wy Nq\Ap h}qBAp H}T, qBg \of²-\§Wc \tgqWHp Yy g`p² h± & lcH h}V 
Yr gvcW qe§M \of²-\§Wc \tgqWHp AWy G.A±`.Apc. E¨Wc-frR Y}hp£ ²¥¾v ^YdV dBr 
`p`dy Yr gvM²¾p Wtc¥W q²criH ²¥¾v qYG & 

 The CODE for this Booklet is A. Make sure that the CODE printed on the OMR 

Answer Sheet is the same as that on this Question Paper Booklet. In case of 

discrepancy, report the matter immediately to the Invigilator for replacement of both 

the Question Paper Booklet and the OMR Answer Sheet.  

16. Ap\Vp c}d ²¥¾^c \of²-\§Wc \tgqWHp/G.A±`.Apc. E¨Wc-frR qe§M qY§Wy JBy 
q²cZpqcW gXp²¾ ²¥¾v N§T Hy h}c qHWy ²¾p qdI} & 

 Do not write your Roll No. anywhere else except in the specified space in the Question 

Paper Booklet/OMR Answer Sheet. 

17. G.A±`.Apc. E¨Wc-frR 'Wy qHgr er Wcªp£ Yy gtZpc Hc² dBr gl±Y Wcd \YpcX 
(white fluid) Yr ecW}¤ ²¾p Hc} & 

 Do not use white fluid for carrying out any correction on the OMR Answer Sheet. 
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_pJ By / SECTION A 

JqVW / MATHEMATICS 

1. qHg A\cyf² WqhW \vcV A¥H ^¥Y ht¥Yy h² ? 

(1)  KRpEVp   (2) _pJ 
(3)  JtVp   (4) qBh gpcy 

 Whole numbers are closed under which operation ?   

(1) Subtraction   (2) Division 

(3) Multiplication   (4) All of these 

2. 1 q`drA² Yr A²¾®ecWr (AJdr) g¥qIAp h± 
 (1) 2 q`drA² (2) 1000001 (3) 100001 (4) 10001 

 The successor of 1 million is  

 (1) 2 million (2) 1000001 (3) 100001 (4) 10001 

3. q^¥Yv O, U, S, V, R, X, W, T, P, Q AWy Y g¥qIAp cyIp 'Wy g`p² Yvcr 'Wy h² & d¥^pBr 
OP cphr¤ YcgpBr q_¥² h±  

 

 (1) 
5

1
 (2) 

5

7
 (3) 

5

4
 (4) 

5

6
 

The points O, U, S, V, R, X, W, T, P, Q and Y on the number line are equidistant. The 

fraction represented by length OP is  

 

 (1) 
5

1
 (2) 

5

7
 (3) 

5

4
 (4) 

5

6
 

4. Y} q²¾c¥Wc \vcV A¥H qO²¾ªp£ qeMHpc q_¥² 
7

5
 gqXW h±, Eh h± 

 (1) 0 AWy 1 (2) 5 AWy 7 (3) 5 AWy 6 (4) 6 AWy 7 

 The two consecutive integers, between which the fraction 
7

5
 lies, are  

(1)  0 and 1 (2) 5 and 7 (3) 5 and 6 (4) 6 and 7 

5. hyS¾p£ qY§qWAp£ qe§M}¤ qHhmr g_ W~ N}Rr q_¥² h± ? 

(1)  
5

4
 (2) 

3

5
 (3) 

6

5
 (4) 

2

5
 

Which of the following is the smallest fraction ? 

(1) 
5

4
 (2) 

3

5
 (3) 

6

5
 (4) 

2

5
 



PN/LABIHE/6/21 5 – A 

6. Y} g¥qIApep£ Yp HCF AWy LCM n`epc 6 AWy 864 h± & OyHc qB§H g¥qIAp 96 h±, Wp£ 
YvOr g¥qIAp d§_} &  

(1) 84 (2) 45 (3) 54 (4) 24 

 The HCF and LCM of two numbers are 6 and 864 respectively. If one number is 96, 

find the other number.  

(1) 84 (2) 45 (3) 54 (4) 24 

7. Y} g¥qIApep£ Yp HCF 12 h± AWy E²¾ªp£ Yp A¥Wc 12 h± & qBh hyS¾p£ qY§WrAp£ g¥qIApep£ 
qe§M}¤ qHhmrAp£ h} gHYrAp£ h² ? 

(1) 84, 96 (2) 66, 78 (3) 70, 82 (4) 62, 78 

 The HCF of two numbers is 12 and their difference is 12. Which of the following can 

be the numbers ? 

(1) 84, 96 (2) 66, 78 (3) 70, 82 (4) 62, 78 

8. AqOhr g_ W}¤ N}Rr g¥qIAp Yp \Wp dJpG O} 9, 12 AWy 15 hcyH cphr¤ _pJ a}J h}ey & 

(1) 60 (2) 90 (3) 120 (4) 180 

 Find the smallest number that is divisible by each one of 9, 12 and 15. 

(1) 60 (2) 90 (3) 120 (4) 180 

9. gp^tV-\pFTc Yp qB§H qefyf ^cp£T < 15 \oWr \±HyR 'Wy eyqMAp Op£Yp h± & qBg Yp 
`t§d < 144 \oWr Yck² h± & 8 Yck² \±HRp£ 'Wy \oWrf§W qe§M dp_ qH¥²¾p h}eyJp ? 
(1) 20 (2) 25 (3) 24 (4) 36 

 A certain brand of soap-powder is sold at < 15 per packet. It costs < 144 a dozen. 

What is the profit in percent on 8 dozen packets ?  

(1) 20 (2) 25 (3) 24 (4) 36 

10. Eh e§Tr W}¤ e§Tr g¥qIAp d§_} qOg ²pd 37, 56, 93 ²¥¾v _pJ YyV 'Wy n`epc 1, 2 AWy 3 
^HpqBAp ApeyJp & 

(1) 9 (2) 18 (3) 15 (4) 12 

 Find the greatest number that will divide 37, 56, 93 leaving remainder 1, 2 and 3 

respectively.  

(1) 9 (2) 18 (3) 15 (4) 12 
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11. OyHc 10 ApY`r qHgy H¥` ²¥¾v 4 qY² qe§M Hc gHYy h², Wp£ Eg H¥` ²¥¾v 5 qY² qe§M \vcp 
Hc² dBr qH¥²y ApY`rAp£ Yr d}m h}eyJr ? 

(1) 10 (2) 8 (3) 40 (4) 12 

 If 10 men can do a piece of work in 4 days, how many men will be required to get the 

same work done in 5 days ? 

(1) 10 (2) 8 (3) 40 (4) 12 

12. 21 ^§HcrAp£ 15 JFAp£ Yy ^cp^c Mpcp Ip£YrAp£ h² & qH¥²¾rAp£ ^§HcrAp£ 35 JFAp£ Yy 
^cp^c Mpcp IpVJrAp£ ? 

(1) 38 (2) 49 (3) 37 (4) 41 

 21 goats eat as much as 15 cows. How many goats eat as much as 35 cows ? 

(1) 38 (2) 49 (3) 37 (4) 41 

13. qB§H `H±q²H 9 Hpcp£ W}¤ < 36,000 H`pE¤Yp h± & OyHc 1 qY² qe§M Eg ²¥¾v 27 Hpcp£ 
q`dYrAp£ h², Wp£ Eh 1 qY² qe§M qH¥²y H`pByJp ?  

(1) < 1,08,000   (2) < 1,80,000  

(3) < 1,00,800   (4) < 1,00,080 

 A mechanic earns < 36,000 on 9 cars. How much will he earn in 1 day, if in a day he 

receives 27 cars ? 

(1) < 1,08,000   (2) < 1,80,000  

(3) < 1,00,800   (4) < 1,00,080 

14. OyHc x : y = 3 : 5, Wp£ 3x + 4y : 8x + 5y Yp A²¾®\pW \Wp Hc} & 

(1) 39 : 49   (2) 29 : 50 

(3) 29 : 49   (4) 39 : 50 

 If  x : y = 3 : 5,  find the ratio  3x + 4y : 8x + 5y. 

(1) 39 : 49   (2) 29 : 50 

(3) 29 : 49   (4) 39 : 50 
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15. OyHc 3, 18, m, 42 A²¾®\pW qe§M h², Wp£ m Yp `t§d \Wp Hc} & 

(1) 6   (2) 54 

(3) 7   (4) 252  

 Find the value of m, if 3, 18, m, 42 are in proportion.  

(1) 6   (2) 54 

(3) 7   (4) 252 

16. qB§H NCC H|\ qe§M 1200 \orqIApcXr _pJ d± chy h² qO²¾ªp£ qe§M}¤ 900 ²¥¾v JVW¥Wc 
qYeg Yy H|\ dBr MtqVAp qJAp h± & MtVy h}By AWy ²hr¤ MtVy h}By H±TyRp£ qeMHpc qH¥²¾p 

A²¾®\pW h}eyJp ? 

(1) 300 : 120 (2) 4 : 1 (3) 3 : 1 (4) 120 : 130 

 In an NCC Camp, 1200 trainees are participating out of which 900 are selected for 

Republic Day Camp. What is the ratio between the number of selected and  

non-selected cadets ? 

(1) 300 : 120 (2) 4 : 1 (3) 3 : 1 (4) 120 : 130 

17. OyHc qB§H dmHp qHgr qHWp^ ²¥¾v < 450 qe§M eyMYp h±, Wp£ Eg ²¥¾v 10% Yr hp²¾r ht¥Yr 

h± & 10% dp_ \op\W Hc² dBr qe§Hcr t̀§d qH¥²¾p h}eyJp ? 

(1) < 500 (2) < 600 (3) < 550 (4) < 525 

 If a boy sells a book for < 450, he makes a loss of 10%. To gain 10%, what should be 

the selling price ? 

(1) < 500 (2) < 600 (3) < 550 (4) < 525 

18. qB§H ApY`r qB§H g\rHc ²¥¾v 20% Yy dp_ 'Wy < 7,500 qe§M eyMYp h± AWy YvOy g\rHc ²¥¾v 
10% hp²¾r 'Wy < 8,100 qe§M eyMYp h± & Eg Yr Ht§d hp²¾r Op£ dp_ \Wp Hc} &  

(1) hp²¾r = < 300   (2) hp²¾r = < 350  

(3) dp_ = < 300   (4) dp_ = < 350 

 A man sells one speaker for < 7,500 at a profit of 20% and another speaker for  

< 8,100 at a loss of 10%. Find his total loss or profit.  

(1) Loss = < 300   (2) Loss = < 350  

(3) Profit = < 300   (4) Profit = < 350 
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19. gcd Hc} (8 + 4 – 2)  (17 – 12)  10 – 89 = _________ .  

(1) 3950 (2) 411 (3) 412 (4) 3949 

 Simplify (8 + 4 – 2)  (17 – 12)  10 – 89 = _________ .  

(1) 3950 (2) 411 (3) 412 (4) 3949 

20. gcd Hc} 0·05 + 1·5  5  10  0·5 = _________ .  

(1) 4·25 (2) 42·5 (3) 0·425 (4) 0·42 

 Simplify 0·05 + 1·5  5  10  0·5 = _________ . 

(1) 4·25 (2) 42·5 (3) 0·425 (4) 0·42 

21. gcd Hc} 7 + 5 – 2  (7 + 89) – 94  2 + (33  3 + 9  2 – 7)  11 = _________ . 

(1) 254 (2) – 225 (3) – 235 (4) 245 

 Simplify 7 + 5 – 2  (7 + 89) – 94  2 + (33  3 + 9  2 – 7)  11 = _________ . 

(1) 254 (2) – 225 (3) – 235 (4) 245 

22. qB§H O`pW qe§M 20 `t¥qTAp£ Yp A¡gW _pc 160 qHd}Jop` h± AWy ^pHr 5 `t¥qTAp£ Yp _pc 
50 qHd}Jop` h± & O`pW Yy gpcy `t¥qTAp£ Yp A¡gW _pc \Wp Hc} & 

(1) 138 kg (2) 183 kg (3) 140 kg (4) 150 kg 

 The average weight of 20 boys in a class is 160 kg and that of the remaining 5 boys is 

50 kg. Find the average weight of all the boys in the class.  

(1) 138 kg (2) 183 kg (3) 140 kg (4) 150 kg 

23. qB§H g`vh qe§M 7 qeqYApcXrAp£ YtApcp \op\W A¡gW A¥H 226 h² & OyHc E²¾ªp£ qe§M}¤ Ny 
YtApcp \op\W HrWy JBy A¥H n`epc 340, 180, 260, 56, 275 AWy 307 h², Wp£ g§Wey¤ 

qeqYApcXr YtApcp \op\W HrWy JBy A¥H \Wp Hc} & 

(1) 160 (2) 162 (3) 163 (4) 164 

 The average marks obtained by 7 students in a group is 226. If the marks obtained by 

six of them are 340, 180, 260, 56, 275 and 307 respectively, find the marks obtained 

by the seventh student.  

(1) 160 (2) 162 (3) 163 (4) 164 



PN/LABIHE/6/21 9 – A 

24. qB§H dpqB^oycr qe§M A¡gW² 510 apWcr A±Wepcp£ ²¥¾v AWy 240 h}c qY²¾p£ 'Wy ApE¤Yy h² & 
30 qY² Yy `hr²y qe§M A±Wepc ²¥¾v ftcv HcHy apWcrAp£ Yr A¡gW g¥qIAp qH¥²¾r h}eyJr ?  

(1) 280 (2) 285 (3) 290 (4) 295 

 A library has an average of 510 visitors on Sundays and 240 on other days. The 

average number of visitors in a month of 30 days starting with Sunday is  

(1) 280 (2) 285 (3) 290 (4) 295 

25. qB§H §̂dy^pk 17ey¤ `±M qe§M 87 c¥²¾p£ Yp gH}c ^VpE¤Yp h± AWy qBg \oHpc Eg Yr 

A¡gW 3 W§H e§Z Op£Yr h± & 17ey¤ `±M Yr ^pAY Eg Yr A¡gW \Wp Hc} & 

(1) 36 (2) 37 (3) 38 (4) 39 

 A batsman makes a score of 87 runs in the 17th match and thus increases his average 

by 3. Find his average after the 17th match.  

(1) 36 (2) 37 (3) 38 (4) 39 

26. 1, 3, 5, 7, 9, 11, 13 Yr A¡gW h±  

(1) 7 (2) 8 (3) 7·5 (4) 8·5 

 Average of  1, 3, 5, 7, 9, 11, 13  is 

(1) 7 (2) 8 (3) 7·5 (4) 8·5 

27. OyHc y Yp x%  100 h± AWy z Yp y%  200 h±, Wp£ x AWy z qeMHpc g¥^¥Z \Wp Hc} & 

(1) z = x   (2) 2z = x 

(3) z = 2x   (4) z = 3x  

 If x% of y is 100 and y% of z is 200, then find the relation between x and z.  

(1) z = x   (2) 2z = x 

(3) z = 2x   (4) z = 3x 

28. qHgr g¥qIAp Yy 2/5ey¤ Yy qB§H-qWhpBr Yp qB§H-M¡XpBr 15 h± & Eg g¥qIAp Yp 40% 
qH¥²¾p h}eyJp ? 

(1) 140 (2) 150 (3) 180 (4) 200 

 One-fourth of one-third of two-fifth of a number is 15. What will be 40% of that 

number ?  

(1) 140 (2) 150 (3) 180 (4) 200 
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29. OyHc 40 Yp 15% qHgr g¥qIAp Yy 25% W}¤ 2 e§Z ht¥Yp h±, Wp£ Eh g¥qIAp h}eyJr  

(1) 14 (2) 16 (3) 18 (4) 20 

 If 15% of 40 is greater than 25% of a number by 2, then the number is  

(1) 14 (2) 16 (3) 18 (4) 20 

30. qB§H ApqBWpHpc IyT Yy `±Yp² Yr d¥^pBr g|Rr`rRcp£ qe§M \Wp Hc} qOg Yp iyWcld  

700 ecJ`rRc AWy M¡mpBr 25 `rRc h± & 

(1) 28   (2) 280 

(3) 2800   (4) 2500  

 Find the length of a rectangular playground in cm whose area is 700 sq.m and 

breadth is 25 m.  

(1) 28   (2) 280  

(3) 2800   (4) 2500  

31. cr²¾p ²y < 1,200 Yp Hckp gZpc² qeApk 'Wy E¨²y¾ hr gpdp£ dBr qdAp qO¥²¾r qeApk 
Yc h± & OyHc Eg ²y < 432 Yp qeApk Hcky Yr AeZr Yy A¥W qe§M qY§Wp h}ey, Wp£ 

qeApk Yc qH¥²¾r gr ? 

(1) 3·6   (2) 6 

(3) 18   (4) 10 

 Reena took a loan of < 1,200 with simple interest for as many years as the rate of 

interest. If she paid < 432 as interest at the end of the loan period, what was the rate 

of interest ? 

(1) 3·6   (2) 6 

(3) 18   (4) 10 

32. OY}¤ Kmr 'Wy 7:15 pm eOy h}V, Wp£ qBg qe§M ^Vy H}V Yp ²¾p` qdI} & 

(1) q²¾F²¾ H}V   (2) g`H}V 

(3)  AqZH H}V   (4) qg§Zp H}V 

 Write the name of the angle formed when the clock time is 7:15 pm. 

(1) Acute angle   (2) Right angle 

(3) Obtuse angle   (4) Straight angle 
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33. hyS¾p£ gpcVr qe§M q²¾FapcH fqhc Yy q\Ndy gpd Yy AqZHW` Wp\`p² YcgpBy JBy  
h² & qBg gpcVr Yr OpVHpcr Yp \oa}J Hc} AWy hyS¾p£ qY§qWAp£ Yy E¨Wc qYG : 

 q²¾FapcH fqhc qe§M q\Ndy gpd Yy qW¥² `hrq²¾Ap£ `Br, OtdpBr AWy gW¥^c Yp A¡gW 
AqZHW` Wp\`p² (2 Yf`de gXp²¾p£ W§H) qH¥²p gr ? 

`hr²¾p O²¾ecr `pcM `Br OtdpBr gW¥^c ²e¥^c 

AqZHW` Wp\`p²,  
C qe§M 

3 9 21 29 24 11 

(1) 21·65C (2) 24·66C (3) 25·52C (4) 26·23C 

 The table below shows the maximum temperatures in New York City last year. Use 

the information in this table and answer the following : 

 What was the average maximum temperature (upto 2 decimal places) of three months 

May, July and September last year in New York City ? 

Month Jan. Mar. May Jul. Sept. Nov. 

Maximum 

temperature, in C 
3 9 21 29 24 11 

(1) 21·65C (2) 24·66C (3) 25·52C (4) 26·23C 

34. geyc Yp Wp\`p² – 10C AWy fp` W§H qBh 3 qTJcr KR qJAp & fp` Yp Wp\`p² 
qH¥²¾p gr ?  
(1) – 7C (2) – 23C (3) – 13C (4) – 12C 

 In the morning, the temperature was – 10C and it decreased 3 degrees by the 

evening. What was the temperature in the evening ?  

(1) – 7C (2) – 23C (3) – 13C (4) – 12C 

35. qB§H ApqBWpHpc ^JrMp 185 `rRc d¥`p AWy 220 `rRc M¡mp h± & qBg Yy qeMHpc  
4 `rRc Yr qB§H g`p² M¡mpBr YrAp£ Y} gmHp£ h², qB§H qBg Yr d¥^pBr Yy g`p£Wc AWy 
YvOr qBg Yr M¡mpBr Yy g`p£Wc & < 1.25 \oWr ecJ `rRc W}¤ gmHp£ ²¥¾v \§Zcp (g`Wd) 
HcpEV Yr dpJW \Wp Hc} & 
(1) < 3,900 (2) < 3,010 (3) < 4,010 (4) < 2,005 

 A rectangular garden is 185 m long and 220 m wide. It has two roads in its centre of 

uniform width of 4 m, one parallel to its length and the other parallel to its breadth. 

Find the cost of levelling the roads at < 1·25 per sq.m.  

(1) < 3,900 (2) < 3,010 (3) < 4,010 (4) < 2,005 
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36. qB§H T±gr`rRc ^cp^c ht¥Yp h± 

(1) 1  10–1 `r.   (2) 1  10–2 `r.  

(3) 1  102 `r.   (4) 1  103 `r. 

 One decimeter is equal to  

(1) 1  10–1 m   (2) 1  10–2 m  

(3) 1  102 m   (4) 1  103 m 

37. c}`² JqVW qe§qYAp qe§M, OyHc H}Br qM¥²ª epc-epc ApE¤Yp h±, Wp£ qBg Yp `t§d E¨²¾r 
epcr JtVp ²¾hs HrWp Op£Yp qO¥²¾r epcr qBh ApE¤Yp h± & 

(1) ghr   (2) JdW 

(3) qHhp ²hr¤ Op gHYp  (4) Y}²}¤ ^cp^c h² 

 In Roman numeration, if a symbol is repeated, its value is not multiplied as many 

times as it occurs.  

(1) True   (2) False  

(3) Cannot say   (4) Both are equal 

38. M§Hc Yy qHgr q^¥Yv 'Wy AcZ M§Hc Yy qeApg cphr¤ A¥WqcW H}V h}eyJp 

(1) 45   (2) 180  

(3) 90   (4) 60 

 The angle subtended by the diameter of a semicircle on any point on the circle is 

(1) 45   (2) 180  

(3) 90   (4) 60 

39. qB§H e§Ty KVpHpc Yp hcyH _pJ 44 g|Rr`rRc h± & qBg ²¾pd hcyH 4 g|Rr`rRc _pJ Yy 
N}Ry-N}Ry KV H§Ry Op£Yy h² & K§R}-K§R qB§H KV YtApcp qKcy h}By qH¥²y N}Ry KV ^V²¾Jy ? 

(1) 888   (2) 729  

(3) 164   (4) 33 

 A big cube has each portion of 44 cm. Tiny cubes of 4 cm portion each are cut from 

that. Then how many tiny cubes will be formed that are surrounded by at least one 

cube ? 

(1) 888   (2) 729  

(3) 164   (4) 33 
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40. qB§H ApqBWpHpc R|H 15 g|Rr`rRc d¥`p, 12 g|Rr`rRc M¡mp AWy 8 g|Rr`rRc E¨Mp h±, 

AWy \pVr ²pd \vcp _qcAp h}qBAp h± & R|H qe§M _cy h}By \pVr Yp ApqBW² \Wp Hc} & 

(1) 180 KV g|Rr`rRc    (2) 1200 KV g|Rr`rRc 

(3) 440 KV g|Rr`rRc  (4) 1440 KV g|Rr`rRc 

 A rectangular tank 15 cm long, 12 cm wide and 8 cm high was completely filled with 

water. Find the volume of water in the tank.  

(1) 180 cm3   (2) 1200 cm3  

(3) 440 cm3   (4) 1440 cm3 

 

41. qHhmp qeHd\ e§ZYy h}By n` qe§M qeegqXW q_¥²¾p£ ²¥¾v YcgpE¤Yp h± ? 

(1) 
8

5
 < 

12

7
 < 

4

3
 < 

16

13
  (2) 

8

5
 < 

12

7
 < 

16

13
 < 

4

3
 

(3) 
8

5
 < 

4

3
 < 

16

13
 < 

12

7
   (4) 

12

7
 < 

8

5
 < 

4

3
 < 

16

13
 

 

 Which option shows fractions arranged in ascending order ? 

(1) 
8

5
 < 

12

7
 < 

4

3
 < 

16

13
  (2) 

8

5
 < 

12

7
 < 

16

13
 < 

4

3
 

(3) 
8

5
 < 

4

3
 < 

16

13
 < 

12

7
   (4) 

12

7
 < 

8

5
 < 

4

3
 < 

16

13
 

 

42. 945·341 – 1042·792 + 875·435 + 31·025 Yp t̀§d Hr h± ? 

(1) 908·004   (2) 810·008  

(3) 795·659   (4) 809·009 

 What is the value of  945·341 – 1042·792 + 875·435 + 31·025 ? 

(1) 908·004   (2) 810·008  

(3) 795·659   (4) 809·009 



PN/LABIHE/6/21 14 – A 

43. qB§H ApY`r apWcp Yy \qhdy 160 qHd}`rRc, 64 qHd}`rRc/K¥Ry 'Wy \vcy HcYp h± AWy 

AJdy 160 qHd}`rRc, 80 qHd}`rRc/K¥Ry 'Wy \vcy HcYp h± & apWcp Yy \qhdy  

320 qHd}`rRcp£ Yr A¡gW Mpd h±  

(1) 35.55 qHd}̀ rRc/K¥Rp    (2) 36 qHd}`rRc/K¥Rp 

(3) 71·11 qHd}̀ rRc/K¥Rp  (4) 71 qHd}`rRc/K¥Rp 

 A man on tour travels first 160 km at 64 km/hr and the next 160 km at 80 km/hr. The 

average speed for the first 320 km of the tour is  

(1) 35·55 km/hr   (2) 36 km/hr  

(3) 71·11 km/hr   (4) 71 km/hr 

44. 3-A¥Hp£ Yr g¥qIAp N YtApcp 2272 AWy 875 ²¥¾v _pJ YyV ²pd gp²¥¾v qB§H hr ^HpqBAp 

cpfr \op\W ht¥Yr h± & N Yy A¥Hp£ Yp O}mld h±  

(1) 10 (2) 11 (3) 12 (4) 13 

 On dividing 2272 as well as 875 by a 3-digit number N, we get the same remainder. 

The sum of the digits of N is 

(1) 10 (2) 11 (3) 12 (4) 13 

45. OvdrAp ²¥¾v 
2

1
 K¥Rp Ap\Vy epd Z}V, H¥Kr Hc² qe§M AWy Ap\Vy H§\my \qh²¾V qe§M 

d§JYp h± AWy 
4

1
 K¥Rp ²¾pfWp Hc² qe§M d§JYp h± & OvdrAp ²¥¾v gHvd OpV dBr qWApc 

h}V qe§M qH¥²¾p g`p£ d§JYp h± ? 

(1) 
4

3
 K¥Rp (2) 1 K¥Rp (3) 

4

2
 K¥Rp (4) 

4

5
 K¥Rp 

 It takes Julia 
2

1
 hour to wash, comb her hair and put on her clothes and 

4

1
 hour to 

have her breakfast. How much time does it take Julia to be ready for school ? 

(1) 
4

3
 hour (2) 1 hour (3) 

4

2
 hour (4) 

4

5
 hour 

46. c}`² g¥qIApep£ qe§M hySp£ qY§qWAp£ qe§M}¤ qHhmr g¥qIAp JdW h± ? 

(1) LXII (2) XCI (3) LC (4) XLIV 

 Which of the following numbers in Roman Numerals is incorrect ? 

(1) LXII (2) XCI (3) LC (4) XLIV 
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47. qB§H KVpHpc qe§M qH¥²y Myhcy ht¥Yy h² ?  

(1) 6 (2) 12 (3) 8 (4) 4 

 How many faces are there in a cuboid ?  

(1) 6 (2) 12 (3) 8 (4) 4 

48. qB§H \§Zcr gWªp O} qH gpcrAp£ qYfpep£ qe§M Aq²¾fqMW cv\ qe§M e§ZYr h±, Eh HhpE¤Yr 

h± 

(1) g`Wd   (2) cyIp  

(3) cyIp I¥T   (4) q^¥Yv 

 A flat surface which extends indefinitely in all directions is called a 

(1) Plane   (2) Line  

(3) Line segment   (4) Point 

49. Y} \vcH H}Vp£ qe§M A¥Wc 10 h± & Y}hp£ H}Vp£ Yy `t§dp£ Yr JV²¾p Hc} & 

(1) 55, 45   (2) 40, 50  

(3) 50, 60   (4) 100, 90 

 The difference between two complementary angles is 10. Calculate the values of both 

the angles.  

(1) 55, 45   (2) 40, 50  

(3) 50, 60   (4) 100, 90 

50. ^|JV, q_¥Tr AWy q\Apk Yp Ht§d _pc 48.057 qHd}Jop` h± & OyHc ^|JV AWy q_¥Tr Yp 

_pc n`epc 5.35 qHd}Jop` AWy 24.52 qHd}Jop` h±, Wp£ q\Apk Yp _pc \Wp Hc} & 

(1) 17·187 qHd}Jop`   (2) 18·187 qHd}Jop` 

(3) 17·180 qHd}Jop`   (4) 18·180 qHd}Jop` 

 The total weight of brinjal, lady-finger and onion is 48·057 kg. If brinjal and  

lady-finger weigh 5·35 kg and 24·52 kg respectively, find the weight of onion. 

(1) 17·187 kg   (2) 18·187 kg  

(3) 17·180 kg   (4) 18·180 kg 
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_pJ ^r / SECTION B 

gZpc² qJAp² / GENERAL KNOWLEDGE 

51. qHg a¥Wc Yp E\a}J eph²¾p£ Yr g\rT ²¾p\V dBr HrWp Op£Yp h± ? 

(1) Jo±e}`rRc   (2) g\rT}`rRc 

(3) JpqBc}gH}\    (4) qHd}`rRc 
 Which device is used to measure the speed of vehicles ? 

(1)  Gravometer    (2) Speedometer 

(3) Gyroscope   (4) Kilometer  

52. _pcW ²y qHg g`pcH W}¤ Ap\Vp cpfRcr \oWrH MtqVAp ? 

(1)  Hq\degWv   (2) hgqW²p\tc 
(3) gpc²pX   (4) \pVr\§W 

 From which monument did India adopt its National Emblem ? 

(1) Kapilavastu   (2) Hastinapur 

(3) Sarnath   (4) Panipat 

53. hyS¾p£ qY§qWAp£ qe§M}¤ qHhmr q²¾oW f±drAp£ qe§M HhpVr/\og¥J h`yfp£ `hp_pcW AWy c`pqBV 
W}¤ dBrAp£ Op£YrAp£ h² ? 

(1) `}qh²¾rA§R`   (2) GTrgr 
(3) _cW²¾pRa`   (4) HtMr\tmr 

 In which of the following styles of dance is the story/theme always taken from 

Mahabharata and Ramayana ? 

(1) Mohiniattam   (2) Odissi 

(3) Bharatanatyam  (4) Kuchipudi 

54. gpTy cpfRcr H±d¥Tc (fH g¥`W) Yy ApZpc 'Wy `hrq²¾Ap£ ²¥¾v ghr n` qe§M qeegqXW 
Hc} — a-MyW  b-qegpi  c-OyS  d-hpm :  
(1) abcd (2) bcda (3) dacb (4) cdab 

 Arrange the months based on our National Calendar (Saka Era) in correct serial 

order — a-Chaitra  b-Vaishakha  c-Jyaishtha  d-Aashada : 

(1) abcd (2) bcda (3) dacb (4) cdab 

55. hyS¾p£ qY§qWAp£ qe§M}¤ dmpHv hepBr OhpO h± ? 

(1) WyOg   (2) Zcte 

(3) ^}qB¥J C-17 Jd}̂ `pgRc (4) MyWH 
 Which one of the following is a combat aircraft ? 

(1)  Tejas   (2) Dhruv 

(3) Boeing C-17 Globemaster  (4) Chetak 
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56. hyS¾p£ qY§qWAp£ qe§M}¤ qHhmp H§\/Rcplr lt§R^pd ²pd g¥^¥qZW h± ? 

(1) Tyqeg H§\   (2) M|\rA²k Rcplr 
(3) g¥W}f Rcplr   (4) YyeZc Rcplr 

 Which of the following cups/trophies is associated with football ?  

(1) Davis Cup   (2) Champions Trophy 

(3) Santosh Trophy   (4) Deodhar Trophy 

57. HrmrAp£ Ap\Vy g`vh YrAp£ HrmrAp£ ²¥¾v qHey¤ \NpVYrAp£ h² ?  

(1)  c¥J cphr¤   (2)    Myhcy cphr¤  

(3) J¥Z cphr¤   (4) EMpBr cphr¤ 
 How do ants recognize ants from their group ? 

(1) By colour    (2) By face 

(3) By smell   (4) By height 

58. hySp£ qY§qWAp£ qe§M}¤ qHhmp \}dRcr lpc`p£ qe§M \pdWv h± ? 

(1) ^§Hcr (2) _yT > (3) `tcJr  (4) K}my 
 Which of the following is domesticated in poultry farms ? 

(1) Goat (2) Sheep (3) Hen (4) Horses 

59. _________ Or_ 'Wy l±dr h}Br ht¥Yr h± AWy _}O² qe§M cgpqBVp£ ²pd \oWrqHqcAp HcYrAp£ 
h² & 

(1) gepY YrAp£ HdrAp £  (2) Aec}ZVrAp£ 
(3) Y¥Y   (4) M`mr 

 The ___________ cover the tongue and react to chemicals in food. 

(1) Taste Buds    (2) Sphincters 

(3) Teeth    (4) Skin 

60. _}O² ²¥¾v gtc§qIAW c§IV eydy S¥¾U Hr HcYr h± ? 

(1) _}O² EW\pY ²¥¾v HS}¾c c§IYr h±  

(2) _}O² Yr gtApY ²¥¾v Wpkp c§IYr h±  

(3) gvi` Orep£ Yy epZy ²¥¾v c}HV dBr  

(4) E\c}HW qe§M}¤ H}Br ²¾hs  
 What does freezing do when preserving foods ? 

(1) Keeps the food product hard  

(2) Keeps the flavours of the food fresh 

(3) Stops growth of micro-organisms  

(4) None of the above 
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61. hep Tc§`gqRH AWy `±\d Yr ^rOp£ ²¥¾v d¥`r¤ Yvcr W§H d± Op£Yr h± qHE¤qH qB²¾ªp£ qe§M 

(1) i¥_p£ epdy ^rk ht¥Yy h² &  

(2) e§Ty AWy epd²t`p ^rk ht¥Yy h² &  

 (3) d¥`y AWy qi¥Ty h}By ld ht¥Yy h²  &   

 (4) H¥TyYpc ^rk ht¥Yy h² & 
 Seeds of drumstick and maple are carried over long distances by wind because they 

possess 

(1)  winged seeds.   

(2)  large and hairy seeds. 

 (3) long and ridged fruits.   

 (4)  spiny seeds. 

62. __________ cpOgXp² Yr qcepqBWr ^pqcf-Od g¥JoqhV WH²¾rH h± & 

(1) Rp£Hp (2) IqT² (3) ^pemr (4) Ivh  
 __________ is a traditional rainwater harvesting technique of Rajasthan. 

(1) Taanka (2) Khadin  (3) Bavadi (4) Kuan 

63. hyS¾p£ qY§qWAp£ qe§M}¤ qHhmp \pVr qe§M Ktd OpByJp ? 

(1)  q`§Rr   (2) MpH \pFTc  
(3) I¥T   (4) Wyd 

 Which of the following will dissolve in water ? 

(1) Soil    (2) Chalk Powder  

(3) Sugar   (4) Oil 

64. hyS¾p£ qY§qWAp£ qe§M}¤ qHhmp g¥MpqcW c}J h± ? 

(1) `Zv`yh (TpqB^Rrk)  (2) N}Rr `pWp (qMH² \¡Hg)   

(3) AdkpBr`c   (4) H|gc (HcH c}J) 
 Which of the following is a communicable disease ? 

(1) Diabetes    (2) Chicken pox  

(3) Alzheimer’s   (4) Cancer 

65. \hpmp£ 'Wy Mmª² dBr, gp²¥¾v  

(1) A§Jy e§d PtHVp MphrYp h± (2) q\§Ny e§d PtHVp MphrYp h±  
(3) qg§Zy M§dVp MphrYp h±  (4) \±Yd M§dVp MphrYp h± 

 To climb the mountains, we have to  

(1) Bend forward   (2) Bend backwards 

(3) Walk straight    (4) Walk sideways 
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66. cpOgXp² Yy cpO\vW cpOp gepBr O± qg¥K cphr¤ 18er¤ fWp^Yr qe§M ^VepBr JBr 
IJ}dr \oyIVfpdp Yp ²¾p` Y§g} & 

(1) dpd qHdp   (2) HtWt^ `r²¾pc 

(3) O¥Wc `¥Wc   (4) WpO `qhd 

 Name an astronomical observatory built in the 18th century by Rajput King Sawai Jai 

Singh of Rajasthan. 

(1) Red Fort   (2) Qutub Minar 

(3) Jantar Mantar   (4) Taj Mahal 

67. ____________ qe§M A¥Ycv²¾r MRp²¾p£, IqVk ApqY fpq`d ht¥Yy h² & 

(1) epav`¥Td   (2) Ore`¥Td 

(3) AcZJ}dp   (4) _v`¥Td 
 _____________ includes internal rocks, minerals, etc. 

(1) Atmosphere    (2) Biosphere 

(3) Hemisphere   (4) Geosphere 

68. d§Ip£ gpd \qhdp£ \¡qYAp£ AWy Op²¾ecp£ Yy Y§^y JBy cqh¥Y-iv¥hY ²¥¾v `¥q²¾Ap Op£Yp h± 

(1) g¥_pqeW _¥Tpc   (2) O±qeH Br¤Z² 
(3) ^pqBG`pg Br¤Z²  (4) A±²¾r`yR fHWr 

 The remains of plants and animals that were buried millions of years ago are known 

as 

(1)  potential reserves   (2) fossil fuels 

(3) biomass fuel    (4) animate power  

69. cgJt§dp ___________ Yr \oMqdW `qS¾ApBr h± & 

(1) \§N` ^¥Jpd   (2) \¥Op^ 

(3) Hycdp   (4) qh`pMd \oYyf 
 Rasgulla is a popular sweet of ___________ . 

(1) West Bengal    (2) Punjab 

(3) Kerala   (4) Himachal Pradesh  

70. hyS¾p£ qY§qWAp£ qe§M}¤ qHhmp _pcW Yp qB§H O²¾OpWr g`tYpqB h± ? 

(1) \¥TW   (2) OpR> 
(3) _rd   (4) \¥Op^r 

 Which of the following is a tribal community of India ? 

(1) Pandits   (2) Jaat 

(3) Bhil   (4) Punjabi 
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71. ^§Yd qkApYpWc qHg W}¤ ^Vy ht¥Yy h² 
(1) ^cl   (2) Zvm 
(3) \pVr YrAp£ ^v¥Yp£   (4) ZtAp£ir Zt¥Y  

 Clouds are mostly made of  

(1) snow   (2) dust 

(3) water droplets   (4) smog 

72. hyS¾p£ qY§qWAp£ qe§M}¤ qHhmy H¥` dBr epgYye `}hr ²¥¾v 29ep£ gcgeWr g¥̀ p² \oYp² HrWp 
qJAp h± ? 
(1) d¡gR qMdTc² ApcHpqBe (2) M±H^t§H  

(3) Y gRcy¤Oc TpqBcrk  (4) A g¡¤J lpc A q²¾F Ty 

 For which of the following works has Vasdev Mohi been awarded the 29th Saraswati 

Samman ? 

(1) Lost Children Archive (2) Chequebook 

(3) The Stranger Diaries (4) A Song for a New Day  

73. av.A±². O²¾cd Ag|^dr Yy \o±OrT|R ^V² epdy \qhdy _pcWr H¡V gr ? 

(1) ²¾Rec qg¥K   (2) er.Hy. qnf²¾p `±²¾²¾ 

(3) for`Wr qeqOAp dHf`r \¥qTW  (4) for`Wr qB¥Ycp Jp£Zr 
 Who was the first Indian to be the President of U.N. General Assembly ? 

(1) Natwar Singh   (2) V.K. Krishna Menon 

(3) Smt. Vijaya Lakshmi Pandit (4) Smt. Indira Gandhi 

74. `²§¾tIr gcrc qe§M hyS¾p£ qY§qWAp£ qe§M}¤ qHhmy _pJ qe§M \gr²y YrAp£ Jo¥XrAp£ `¡OvY ²¾hr¤ 
ht¥YrAp£ h² ? 

(1) i}\mr   (2) H§Np£ (^Jd) 

(3) ^t§dª   (4) hXydrAp£ 

 In which of the following parts of the human body are sweat glands absent ? 

(1) Scalp   (2) Armpits 

(3) Lips   (4) Palms 

75. H¥Jpcv Yy N}Ry ^§My ²¥¾v Agr¤ Hr Hqh¥Yy hp£ ? 

(1) ³}d   (2) H}dR 

(3) O}Br   (4) H^ 

 What do we call the young one of a Kangaroo ? 

(1) Foal   (2) Colt 

(3) Joey   (4) Cub 
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_pJ gr / SECTION C 

_pfp / LANGUAGE  

(Hyed \¥Op^r _pfp qe§M \orqIAp YyV epqdAp dBr) 

\of²¾ 76 W~ 80 W§H Yy E¨Wc hyS¾ qdIy \±cyª ²¥¾v \mª Hy qYE : 

gor Jtcv Wycp ^hpYtc Or qg§Ip£ Yy Ygez Jtcv gor Jtcv J}q^¥Y gpqh^ Or Yy q\Wp Or g²¾ & q\Wp 

Jtcv hqcJ}q^¥Y Or Yy `hp-\ogXp²¾ W~ ^pAY g¥²¾ : 1644 Brger qe§M Ap\ Ap\Vr \W²¾r JtOcr 

Or AWy `pWp ²¾p²¾Hr Or gqhW ^Hpdp Op egy Wy _JWr Hc²¾ d§Jy & Ap\ Or Zc` \oMpc 

dBr HBr Xpep£ \R²¾p, Adphp^pY, ^²¾pcg, Jap, ^¥Jpd ApqY JBy AWy Ap\ Or ²y¾ 

Ap²¥¾Y\tc ^gWr Yr gXp\²¾p HrWr & Ap\²y¾ t̀Jd cpOy A¡c¥Jky^ Yy Ot´` qect§Z Hf`rcr 

\¥TWp£ ²¥¾v ^MpEV dBr fhrYr qY§Wr & 

76. gor Jtcv Wycp ^YpYtc Or qH²¾ªp Yy Jtcv g²¾ ? 

 (1) `p²¾eWp   (2) \¥TWp£ 

(3) qg§Ip£   (4) gor Jtcv J}q^¥Y qg¥K Or Yy 

77. gor Jtcv WyJ ^hpYtc Or qg§Ip£ Yy qH¥²¾ªey Jtcv g²¾ ? 

 (1) ²¢¾ey (2) Ygez (3) \qhdy (4) WrOy 

78. gor Jtcv J}q^¥Y qg¥K Or Yr `pWp Yp ²¾p£ Hr gr ? 

 (1) JtOcr (2) ²¾p²¾Hr (3) J}q^¥Yr (4) hqcJ}q^¥Y 

79. gor Jtcv WyJ ^hpYtc Or ²y¾ qHhmp fqhc egpqBAp ? 

 (1) ^¥Jpd (2) Jap (3) Ap²¥¾Y\tc (4) JtOcpW 

80. gor Jtcv WyJ ^hpYtc Or ²y¾ _JWr dBr qHhmr Xp£ MtVs gr ? 

 (1) Ap²¥¾Y\tc (2) Jap (3) \R²¾p (4) ^Hpdp 
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81. hyS¾ qdIy qeHd\p£ qe§M~ ft§Z f^Y qHhmp h± ? 

 (1) HerWp (2) Hq^Wp (3) HeWp (4) HqeWp 

82. ‘²¾er²¾’ f^Y Yp qec}Zr f^Y Hr h}eyJp ? 

 (1) ²¾ep£   (2) eZrAp  

(3) \tcpW²¾   (4) M`HYpc 

83. \¥Op^r ec²¾-`pdp Yr qJVWr qH¥²¾ªr h± ? 

 (1) 36 (2) 40 (3) 44 (4) 41 

84. Jtc`tIr qd\r qe§M A²¾®²¾pgHr Zt²¾rAp£ ²¥¾v A¥qHW Hc²¾ dBr qH¥²y¾ A§Ic h²¾ ? 

 (1) 7 (2) 5 (3) 4 (4) 3 

85. hyS¾ qdIy qeHd\p£ qe§M~ ft§Z f^Y-O}m qHhmp h± ? 

 (1) gp£P (2) gp£O (3) gAp£O (4) fp£O 

86. \tAp\r Hr h± ? 

 (1) _pfp   (2) E¨\_pfp  

(3) IyWc   (4) qeApHc²¾ 

87. \¥Op^r Zt¥²¾rAp£ qH¥²y¾ qHg` YrAp£ ht¥YrAp£ h²¾ ? 

 (1) 4 (2) 3 (3) 2 (4) 1 

88. qeApHc²¾ A²¾®gpc ‘‘qHE¤qH’’ f^Y Hr h± ? 

 (1) ²¾p£e (2) ZpWv (3) g¥^¥ZH (4) a}OH 

89. hyS¾ qdqIAp£ qe§M~ ‘‘g}hdy JpEVp’’ `thpecy Yp ghr AcX qHhmp h± ? 

 (1) q`§S¾p ^}dVp£   (2) Itfr Yy JrW JpE¤Vp 

(3) qglWp£ Hc²¾rAp£   (4) q²¥¾qYAp Hc²¾r 

90. ‘‘q\E-YpYy Yr J§d’’ dBr qB§H f^Y qHhmp h± ? 

 (1) q\E-YpYp \tcIr  (2) q\Wp \tcIr 

(3) YpYp \tcIr   (4) \tcIp£ Yr Hhr 
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91. Eh Xp£ qO§Xy \qhdep²¾ K}d HcYy h²¾ & 

 (1) HtfWr Jph (2) H§Mr Xp£ (3) W^ydp (4) AIpmp 

92. hyS¾ qdqIAp£ qe§M~ qHhmp qeHd\ ‘‘gpl’’ Yp g`p²¾pcXH ²¾hs h± & 

 (1) E¨Od (2) \pVr ecJp (3) q²¾c`d (4) ge§N 

93. Jc`r, gcYr, Oep²¾r _____________ ²¾p£e h²¾ & 

 (1) Ap`   (2) Ipg  

(3) egWvepMH   (4) _peepMH 

94. qfHpcr f^Y Yp ghr qBgWcr qd¥J MtV} & 

 (1) qfHpc²¾   (2) qfHpqc²¾ 

(3) qfHpqc Yr \Wr   (4) frHpqc²¾ 

95. AIpV \vcr Hc} ‘‘Eh qY²¾ T§ª^p OY~ _____________ MqmªAp Ht§^p &’’ 

 (1) FS¾ (2) K}mr (3) Ohpk (4) JZr 

96. ‘‘O}’’ qHg qHg` Yp \m²¾p£e h± ? 

 (1) \of²¾epMH   (2) g¥^¥ZepMH 

(3) Aq²¾fMyepMH   (4) q²§¾OepMH 

97. ‘‘Wres’’ f^Y Yp ghr ^ht-eM²¾ MtV~ & 

 (1) qWerAp£ (2) WrqeAp£ (3) WrerAp£ (4) Wrep£ 

98. qHqcAp-qefyfV qH¥²¾r \oHpc Yy ht¥Yy h²¾ ? 

 (1) 6 (2) 8 (3) 10 (4) 7 

99. ‘‘^htW’’, ‘‘X}mªp’’ _____________ qefyfV h²¾ & 

 (1) \m²¾p£er   (2) \qc`pVepMH 

(3) q²¾fMyepMH   (4) g¥qIApepMH 

100. Jtc`tIr qd\r qeM ____________ Yt§W A§Ic h²¾ & 

 (1) 1 (2) 2 (3) 3 (4) 5      
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_pJ Tr / SECTION D 

^t§Zr / INTELLIGENCE 

101. qY§Wr JBr dmr qe§M A§Jy Hr ApByJp ?  

A, C, F, H, K, M, ....... 

(1) N (2) Y (3) P (4) M 

 What comes next in the given series ? 

A, C, F, H, K, M, ....... 

(1) N (2) Y (3) P (4) M 

102. cphtd ²y qg§Zy \vvc^ e§d M§dVp ftcv HrWp & Eh Ht§P Yvcr W§H M§qdAp AWy qlc Ap\Vy 
g§Oy \pgy e§d `tqmAp AWy qlc W}¤ M§qdAp & htV Eg Yp `v¥h qHg qYfp e§d h± ?  

(1) E¨Wc (2) \vc^ (3) Y§IV (4) \§N` 

 Rahul started walking straight towards East. He walks a certain distance and then 

turns towards his right and walks again. In which direction is he heading now ? 

(1) North (2) East (3) South (4) West 

103. qY§Wy JBy qeHd\p£ qe§M}¤ qeI` Yr M}V Hc} & 

(1) ^¥JdpYyf : RHp   (2) ^opkrd : crAd 
(3) gpBr\og : Tpdc   (4) qBcp² : qcApd 

 From the given options, choose the odd one out.  

(1) Bangladesh : Taka  (2) Brazil : Real 

(3) Cyprus : Dollar   (4) Iran : Rial 

104. Wp²¾rAp A±qcH W}¤ e§Tr h± & 

Hqdl Wp²¾rAp W}¤ e§Tp h± &  

A±qcH Hqdl W}¤ e§Tp h± & 
OyHc \qhdy Y} HX² ghr h², Wp£ Wrgcp HX² h± 
(1) ghr  (2) JdW (3) \Wp ²¾hr¤  (4) qB²¾ªp£ qe§M}¤ H}Br ²¾hr¤ 

 Tanya is older than Eric.  

 Cliff is older than Tanya. 

 Eric is older than Cliff. 

 If the first two statements are true, the third statement is  

(1) True (2) False (3) Uncertain (4) None of these 
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105. \of² qM¥²¾ª Yy gXp² 'Wy Hr ApByJp ? 

 10, 100, 200, 310, ? 

(1) 420 (2) 410 (3) 430 (4) 400 

 What will come at the place of the question mark ? 

 10, 100, 200, 310, ? 

(1) 420 (2) 410 (3) 430 (4) 400 

106. A, B Yr _±V h± & C, B Yr `p£ h± & D, C Yy q\Wp h² & E, D Yr `p£ h± & Wp£ A Yp D 

²¾pd Hr g¥^¥Z h± ?  

(1)  YpYp   (2) YpYr  

(3) \t§Wcr   (4) \}Wr 
 A is B’s sister. C is B’s mother. D is C’s father. E is D’s mother. Then how is A related 

to D ? 

(1) Grandfather   (2) Grandmother  

(3) Daughter   (4) Grand-daughter 

107. qB§H qefyf H}T _pfp qe§M COMPUTER ²¥¾v RFUVQNPC Yy cv\ qe§M qdqIAp Op£Yp  
h± & Egr H}T _pfp qe§M MEDICINE ²¥¾v qHg \oHpc qdqIAp OpByJp ? 

(1) MFEDJJOE   (2) EOJDEJFM 

(3) MFEJDJOE   (4) EOJDJEFM 

 In a certain code language, COMPUTER is written as RFUVQNPC. How will 

MEDICINE be written in that code language ? 

(1) MFEDJJOE   (2) EOJDEJFM 

(3) MFEJDJOE   (4) EOJDJEFM 

108. OyHc Y§IV-\vc^, E¨Wc h} OpBy, E¨Wc-\vc^ \§N` h} OpBy AWy qBh qBgr \oHpc Opcr 
chy, Wp£ \§N` Hr h} OpByJp ? 

(1) E¨Wc-\vc^   (2) E¨Wc-\§N`  

(3) Y§IV-\vc^   (4) Y§IV-\§N` 

 If South-East becomes North, North-East becomes West and so on, what will West 

become ? 

(1) North-East   (2) North-West  

(3) South-East   (4) South-West 
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109. 45 qeqYApcXrAp£ Yr qB§H O`pW qe§M, Apq`c Yp c|H qgic W}¤ 16ep£ h±& Af}H, Apq`c 
W}¤ 6 c|H hySp£ h± & hyS¾p£ W}¤ Af}H Yp c|H qHhmp h± ? 

(1) 23ep£ (2) 32ep£ (3) 24ep£ (4) 30ep£ 
 In a class of 45 students, Amir’s rank from the top is 16th. Ashok is 6 ranks below 

Amir. What is Ashok’s rank from the bottom ? 

(1) 23rd (2) 32nd (3) 24th (4) 30th  

110. A§Icp£ Yy qHhmy qB§H O}my ²¥¾v qY§Wr JBr A§Ic dmr Yy Ipdr gXp²¾p£ qe§M n`^§Z c§IV 
²pd dmr \vcr h}eyJr ? 

_ ab _ b _ aba _ _ abab. 

(1) abbaa (2) bbaab (3) abaab (4) aaaba 

 Which one set of letters when sequentially placed at the gaps in the given letter series 

shall complete it ? 

_ ab _ b _ aba _ _ abab. 

(1) abbaa (2) bbaab (3) abaab (4) aaaba 

111. qBg dmr e§d YyI} : 2, 1, (1/2), (1/4), ...  

 A§Jy ApEV epdr g¥qIAp qHhmr h}eyJr ? 

(1) 1/3 (2) 1/8 (3) 2/8 (4) 1/16 

 Look at this series : 2, 1, (1/2), (1/4), ...  

 What number should come next ? 

(1) 1/3 (2) 1/8 (3) 2/8 (4) 1/16 

112. Eh ghr qeHd\ MtV} qOg qe§M g`p² g¥^¥Z h}ey &   

SCD, TEF, UGH, _________, WKL 

(1) CMN (2) UJI (3) VIJ (4) IJT 

 Choose the correct alternative that has the same relation. 

SCD, TEF, UGH, _________, WKL 

(1) CMN (2) UJI (3) VIJ (4) IJT 

113. OyHc ‘WAY’ ²¥¾v 679 Yy cv\ qe§M H}T HrWp Op£Yp h±, ‘MAY’ ²¥¾v 579 Yy cv\ qe§M H}T HrWp 
Op£Yp h±, Wp£ ‘YAW’ ²¥¾v H}T HrWp OpByJp 

(1) 976 (2) 769 (3) 679 (4) 579 

 If ‘WAY’ is coded as 679, ‘MAY’ is coded as 579, then ‘YAW’ will be coded as  

(1) 976 (2) 769 (3) 679 (4) 579 
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114. OyHc ‘+’ Yp AcX ‘‘KRpG’’ h±, ‘–’ Yp AcX h± ‘‘JtVp’’, ‘’ Yp AcX h± ‘‘O}m’’, Wp£  
10  5 + 3 – 2 Yp `t§d Hr h}eyJp ? 

(1) 24 (2) 52 (3) 9 (4) 10 

 If ‘+’ means ‘‘Minus’’, ‘–’ means ‘‘Multiply’’, ‘’ means ‘‘Add’’, then what is the value of  

10  5 + 3 – 2 ? 

(1) 24 (2) 52 (3) 9 (4) 10 

115. gtZpc²¾p : qgdpBr Hc²¾p : : g¥\pY² Hc²¾p : _________ 

(1) clv Hc²¾p   (2) `tc¥`W Hc²¾p  

(3) h§Xqd§\r   (4) H¥`-R\pF/AgXpBr 

 mend : sewing : : edit : _________ 

(1) darn   (2) repair  

(3) manuscript   (4) makeshift 

116. Ipdr Xp£ep£ _c} &  

 dJp` : K}mp : : H¥Rc}d \±²¾d : _________ 

(1) \pqBdR (2) q^§R > (3) khpO  (4) K}mgepc 

 Fill in the blank.  

rein : horse : : control panel : _________ 

(1) pilot (2) bit (3) plane (4) rider 

117. Eh f^Y MtV} O} g`vh Yy f^Yp£ ²pd K§R W}¤ K§R q`dYp h}ey & 

(1) A±`.A±g. \y¤R >   (2) lyg^t§H 

(3) e§RgA±\   (4) RqeRc 

 Choose the word which is least like the words in the group. 

(1) MS Paint   (2) Facebook  

(3) WhatsApp   (4) Twitter 



PN/LABIHE/6/21 28 – A 

118. Eh f^Y MtV} O} cyIp£qHW f^Y Yp kcvcr _pJ h± & 

qJRpc 

(1) ^|T (2) AqZAp\H  (3) JrW  (4) Wpcp£  

 Choose the word that is a necessary part of the underlined word. 

Guitar       

(1) Band (2) Teacher (3) Songs (4) Strings 

119.

  

 UtHep£ qeHd\ MtV Hy YvOy O}my ²¥¾v \vcp Hc} & 

(1)

  

(2)

  

(3)

  

(4)

  

  

 Complete the second pair by selecting the appropriate alternative. 

(1)

  

(2)

  

(3)

  

(4)

  

120. qB§H ApY`r 6 qHd}`rRc Y§IV e§d M§dYp h±, I§^y `tm Hy 4 qHd}`rRc M§dYp h±, qlc 

Yt^pcp I§^y t̀mYp h± AWy 5 qHd}`rRc M§dYp h± & htV Eg Yp `v¥h qHg qYfp e§d h± ? 

(1) Y§IV  (2) E¨Wc (3) \vc^ (4) \§N` 

 A man walks 6 km south, turns left and walks 4 km, again turns left and walks 5 km. 

Which direction is he facing now ? 

(1) South (2) North (3) East  (4) West 
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121. \of² qM¥²¾ª Yy gXp² 'Wy qHhmp A§Ic ApByJp ? 

 

(1) N   (2) O  

(3) P   (4) M 

 Which letter replaces the question mark ? 

 

(1) N   (2) O  

(3) P   (4) M 

122. \tOpcr ²y qB§H _JW ²¥¾v qHhp, ‘‘K¥Rr 45 q`¥Rp£ Yy q²¾aq`W A¥Wcpdp£ 'Wy e§OYr h± & 

ApIcr K¥Rr 5 q`¥R \qhdp£ e§Or gr & Ajdr K¥Rr 7:45 am 'Wy e§OyJr &’’ \tOpcr ²y qBh 
gvM²¾p _JW ²¥¾v qHg g`y¤ qY§Wr gr ? 

(1) 6:55 am   (2) 7:00 am  

(3) 7:05 am   (4) 7:40 am 

 The priest told the devotee, ‘‘The bell rings at regular intervals of 45 minutes. The 

last bell rang 5 minutes ago. The next bell is due to be rung at 7:45 am.’’ At what time 

did the priest give this information to the devotee ? 

(1) 6:55 am   (2) 7:00 am  

(3) 7:05 am   (4) 7:40 am 
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123. hyS¾p£ qY§Wy JBy qM§Wc qe§M qH¥²¾rAp£ qWo_tOp£ h² ? 

  

  

(1) 4 (2) 12 (3) 16 (4) 10 

 

 How many triangles are there in the figure given below ? 
  

  

(1) 4 (2) 12 (3) 16 (4) 10 

124. OyHc qB§H H}T qe§M, ‘BOMBAY’ ²¥¾v ‘CNNABX’ Yy cv\ qe§M H}T HrWp Op£Yp h±, Wp£ 
‘DELHI’ Yp H}T Hr h}eyJp ? 

(1) EDMJG   (2) GMDEJ 

(3) DEGMJ   (4) EDMGJ 

 In a code, ‘BOMBAY’ is coded as ‘CNNABX’, then what will be the code of ‘DELHI’ ? 

(1) EDMJG   (2) GMDEJ 

(3) DEGMJ   (4) EDMGJ 

 

125. Ipdªr Xp£ep£ _c} & 

 Ad§J Hc²¾p : qB§H Hc YyVp : : `tc¥`W Hc²¾p : _________ 

(1) ²y¾my ApEVp    (2) Z§Hp YyVp  

(3) qeJpm YyVp   (4) MdpHr qYIpEVp 

 Fill in the blank.  

 segregate : unify : : repair : _________ 

(1) approach   (2) push  

(3) damage   (4) outwit 
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H§Mp/cl H¥` dBr Xp£ 
SPACE FOR ROUGH WORK 
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H§Mp/cl H¥` dBr Xp£ 
SPACE FOR ROUGH WORK 

 


